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F_rom the following information, you are required to calculate
(a) Return on capital employed

(b) Returnon shareholder s funds

Rs.
Share capital ' 8,00,000
Reserves 2,00,000
8% debentures . 2,00,000
Creditors | 1,60,000
Total assets : 13,60,000

Profit before tax and interest  2,96,000

Profit efter tax 1,40,000
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23. From the balance sheets of-M/S Ganga and Yamuna on 1.1.99
* and 31.12. 99 prepare funds flow statement.

Llablht;es 1.1.99  31.12.99 Assets  1.1.99  31,12.99

' Rs. Rs. "Rs. Rs.
Creditors . 40,000 44,000 -Cash 10,000 7,000
Mrs. Yamuna loan 25,000 i Debtors 30,000 © 50,000
Loan fromIndian Bank 40,000 50,000 Stock 35,000 25,000
Capital - 1,25,000 1,53,000 Machinery 80,000 55,000
Land 75,006 1,10,000
2.30,000 2,47, 000 230000 247,000

lﬂmm@m 1.1.99 wpgd 31.12. 995@rﬂu_| a;rfus;rr pmIB: wWpa
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Qumrmyliygerr 1.1.99  31.12.99 Qenggsear 1.1.99  31.12.99
sLapCsT 40,000 44,000 Qyrésid 10,000 7,000
wepenmedler sL_an 25,000 ~ sLanmart 30,000 50,000

@ipdwen euiid sLar 40,000 50,000 syafpriy 35,000 25,000

psD - 1,25,000 1,53,000 Qupdys 80,000 55,000
Hlaoid 75,000 1;10,000
2,30,000 * 2,47,000 2,30,000 2,47,000

24. . The following details are given :
Year Sales (Rs.)) = Profit (Rs.)

2003 10,00,000 2,00,000
2004 . 15,00,000 4,00,000
Calculate :’
(ay PV Ratio
(b) Fixed cost
(¢) Break Even Point (Value)
(d) Profit on sale of Rs. 20,00,000 ;
(e) Sales required to ma-ke a profit of Rs. 6,’00,0_00
() Margin of safety. |

9 60556/CYA5A



Q&red e 66]L15]®|_|_ Do MM esen G&L&@I_I_Lq_@ﬂ 31.03.2008ib BTEneTLI

€.
@@uq @m@)a @@umus; Qs () Gurrgﬂ ‘r_ﬁ]ma) @iy ‘[E]GE)GI)GS . : . 00
@umu ST Q.stu_la; NG (I,DGD(&_)SG‘N!.D 00,0 3
G]urrguuqa;eﬂ . Qgrrc;&@irr Gfaney Qensgissdar Qaielear  (AMare STLIL|GET 2,00,000
FwHanels UkiGseT ' 300 - 300 mpQuuwi 200 i50 8% sL_af (B ugHymser 2,00,000
apeingyflanots Lt gasar * 100 150 sari 350 400 : sLalHCai ' 1,60,000
QoruplL /@ : : 60 50 smuyflenwo - 10 ‘ 20 . . Qurss Qéngglje%a;m 13,60,000
SO ugyhiser 200 200 siwpsear. . 40 50 il BHOID Ut 4ée WHsW wTub 296,000
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T o ‘ : , ' , . ) 16. Compute funds from operations from the following :
Ber s sLar 250 200 aurd) - 200 100 : o 0
‘ 1000 1000 1000 ~ 1000 : | - Profit and Loss Account |
oy s ' ; g ' LA _ Particulars : Rs. Particulars Rs.
22.  Using the following information construct a Balance sheet ol 10,000 By Gross proﬁt 7% 2 000
) (a) Gross pI"Oﬁt (20% of sales) Rs.\G,O0,000' ; To Rent _ 4,000 By Rent o 10.000
' .(b) Shareholders equality Rs. 5,00,000 To Depreciation . 2,000 By Interest on investment 8,000
(¢) Credit sales to total sales 80% '

> 0 To Goodwill written off ‘ 4,000 By Net loss 10,000
(d) Total ts tur 1 3t 1 ¢ - g :
D) Staliapsets Jutnoverss times (anieales) To Loss on sale of investment =~ 10,000

(e) Average collec.t/ion period (360 days in a year): 18 days

30,000 30,000
() -Current ratio 1:6 - . ‘ o
B . g . 3 .t 0 N . L - . » . N -é] .
(@) Long teim debt to equity 40% . ﬁ]m@@m aﬁ]uqrma;mm Qasrr@r@ Wewe L’ iqqjerer Hldlamw samésd Hs
' Gemeuhd elupiisemars GQsmam() @iy ﬁmsua; @@umu g,u_urrrr"‘ k . @emu gbl_L_ HTES,
Qs | . eNugiiger (. @Sﬂuurma;m €.
(1) H6IET5e ReTibi(205 etlbtenar; @46:00,000 UG 10,000 Qwrss wrub &/G@sr 2,000
; 186 Foflena em. 5,00,000
_ SOy P'ﬁmm v o CUTL 6D & 4,000 eumLeng . 10,000
(B) Guwrss elpumanie sLerelphLemar 80% : : ! :
CsWiwmend 2,000 @pgaS® Baram ey 8,000
(F) Qurss G]acrrg,gja;a;aﬂm a;gfng)eﬂ S LRI (@S]mumso'rufﬂw) ' : L
BoQuwT Curs@aswdug 4,000 Fl&y BLLD 10,000
(=) &Urrecrﬂturraﬂ QUGE STeLD (cfgbem(b\a;@ 360 prisar): 18 ‘r_r;rn_aserr ' T 1 1
(2sr) BLUL &g 1:6 y | AT &geG elpuamen pl b 10,000
(1)  uRigssTen Hewr sren GSL_G.%_T 40% ' ' ' 30,000 30,000
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17.

18.

From the following forecasts of cash flows prepare'éash budgets
of XYZ Ltd for the year 2008.

Rs.
Opening balance of cash on 1:1.2008 5,000
Cash sales 25,000
Receipts from debtors . . 40,000
Cash purchases | 15,000
Payment to Cre,aitors K 18,000
Payment of operating éxpen_ses 7 ,‘OOO.'
" Income from interest dividend etc. 4,000

emaimLd HE UL e sefilianu Qaran® XYZ SfGLL g6 Qrrés
aupe deway St gdlenar 20081b e (@ saumss Hs. '

O
1.1.2008en Qsr_ss Qrrésin 5,000
Qurés eNhLiener _ 25,000
sLenmmerflib QuDHDE, . 40,000
Qrrés Ga;rrd%q,og,‘eb 15,000

sLBCHTHES QsissiulLg) 18,000
Gewur® dewager Cegusdlwg . 7,000

QUL g HOID LIRIGTSTIL Gu(HLOMGTLD 4,000

' From the following information of Sakthi and Co. Calculate
(a) P/V Ratio
(b) Break S point
(c) Profit
(d) Margin of safety
\ Total fixed costs Rs. 4,500
Total variable cost Rs. 7, 500
Total sales Rs.ﬂ 15,000 :
6 60556/CYAS5A
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19. Differentiate between Marginal Costing and Absorption Costing.
efleflibLy : cg{Lé;é;@S]U.l@é;'@Lb . mrly  QILSseNLQSSD 2 6Ter
CaigurHEmer SHs. .

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.v '

20. Evalu_a'te the advantages and liabilities of Management
Accounting, 1
Guoerarem saéfuden parmbsd wHmn QurmiLsmar wHUTEH
Qsi1s. ‘

21. Following are the Balance sheets of Sherlin Ltd and Prince Ltd.
as on 31.03.2008. Prepare a Common size Balance sheet and
make comments.

Liabilities Sherlin Prince  Assets  Sherlin Prince
Equaiity shares 800 ' 300 Good will - 200 150
Pré. Shares . 100 150 Plant 350 400
P& Lal 60 50 - Patents 10 20
Debentures 200 200 Furniture 40 .50
Creditors 40 60 Stock 100 120
Tax payable 50 40 Debtors 100 ‘160
Long term loan 250 200 Bank 200 100

1000 1000 1000 1000

=
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